DESIGN CRITERIA: > igitall
o5 Digitally
APPLICABLE CODES, REGULATIONS & STANDARDS SHEET NO. DRAWING INDEX > _g_B¢ i, ]
1. THE 2020 FLORIDA BUILDING CODE, SPECIFICALLY CHAPTER 16 5, 5882S OGN, signed by
STRUCTURAL DESIGN, CHAPTER 20 ALUMINUM & CH. 23 WOOD. $/01 GENERAL NOTES Colfosd SO R, }
2. AA ASM 35 & SPECIFICATIONS FOR ALUMINUM STRUCTURES, Ef0s885 S&VTNRG2 Craig E
PART 1-A OF THE ALUMINUM DESIGN MANUAL PREPARED BY S/02 PLAN/ ELEVATIONS 0985%0, %7 No.6ol2 i¥Z
THE ALUMINUM ASSOCIATION, INC. WASHINGTON D.C. 2005 ED. OXTEESS D i . . = Gunderson
4. NDS NATIONAL DESIGN SPECIFICATION FOR WOOD. Bgungcgd =R &5 Date:
5. ACI318 CONCRETE REFERENCE MANUAL. $/04 DETAILS 28080808 LRGN om(_)_?.‘gc,’\%\\\\\ :
CTCDOEST 3 /,//// S/ ....... E \\\\\\
WIND LOADS E5B058%52 7 ONAL B 2023.09.11
1. BUILDING OCCUPANCY CATEGORY, PARAGRAPH 1604.5 & TABLE S/05 DETAILS S8t o08308 15:55:24 -04'00'
1604.5: RISK CATEGORY 1. 25555508 D244 -
2. BASIC WIND SPEED, TABLE 1609C, STATE OF FLORIDA DEBRIS FoO50050

REGION & BASIC WIND SPEED, PARAGRAPH 1609.3.1 & TABLE
1609.3.1 EQUIVALENT BASIC WIND SPEED: 160

2. ALUMINUM ADDITIONS ARE NOT TO BE INSTALLED ON A
MANUFACTURED HOME, TRAILER HOME, OR PRE-FAB HOME.
IF THE EXISTING STRUCTURE IS ONE OF THESE, A SEPARATE 4TH
WALL SUPPORT SYSTEM IS SO TO BE ENGINEERED SO THAT NO
ADDITIONAL LOADING IS PLACED ON THE MANUFACTURED HOME.

MPH EXPOSURE CATEGORY, PARAGRAPH 1609.4.3: C O — N 5
3. WIND LOADS PER FBC TABLE 2002.4 (MWFRS) 10O o N
VULT = 160 MPH & EXPOSURE = C — 3
160 c — % 2
FOR 20 X 20 X 0.013" MESH SCREEN (D = o e
HORIZONTAL PRESSURES ON WINDWARD SURFACES = 49 PSF = < ]
HORIZONTAL PRESSURES ON LEEWARD SURFACES = 39 PSF Z Z a) o
VERTICAL PRESSURES ON SCREEN SURFACES = 14 PSF — D = e 8
VERTICAL PRESSURES ON SOLID SURFACES = 41 PSF EK - X o (o}
W—=0x .2
FOR 18 X 14 X 0.013" MESH SCREEN, APPLIED FACTOR = .88 = o E o
FOR ALLOWABLE STRESS DESIGN, APPLIED FACTOR = .6 L < Lo o<
Zx .Lou
FOUNDATION DESIGN — - W o cni
FOOTING SIZE EXISTING CONCRETE SLAB. NO ADDITIONAL FOOTING (D _ ko c
OR FOUNDATION SYSTEM IS REQUIRED BY THE PROPOSED 2 =~ @
CONSTRUCTION IF A MINIMUM 4" CONCRETE SLAB IS PROVIDED IN Z O~ n
SOUND CONDITION, FREE FROM STRUCTURAL CRACKING, SPALLING L < 4 g L )
& OTHER DETERIORATION. EXISTING FOUNDATION/FOOTING UNDER = 5
CONCRETE SLAB MINIMUM 8'x8" W/ (1) #5 BAR TO BE VERIFIED BY <( = < =
CONTRACTOR. SEE TYPICAL FOOTING DETAILS FOR NEW FOOTING 0 < T @)
DESIGN MINIMUM REQUIREMENTS. = O
MISCELLANEOUS m o lﬂ_i
1. SCREENED ENCLOSURES CONTAINING SWIMMING POOLS SHALL O © o)
COMPLY WITH THE APPLICABLE REQUIREMENTS OF FBC .
R4501.17 RESIDENTIAL SWIMMING BARRIER REQUIREMENTS. ™ < QO
l/

N
N\

FASTENER SPECIFICATIONS
1. FASTENERS ARE REQUIRED TO BE SAE GRADE 2 OR BETTER
ZINC PLATED. (CONCRETE ANCHORS ARE TO BE TAPCONS
OR BETTER, INSTALLED TO MFG. SPECIFICATIONS)
2. 1T 1S THE OWNERS RESPONSIBILITY TO MAINTAIN THE SCREENS,
FASTENERS AND SCREENS TO MANUFACTURING SPECIFICATIONS.
3. WHERE WOOD DECK IS PRESENT USE 1/4" X 3-1/2" GALV. LAG

N
PROJECT NO. 2324998

NS

SCREWS IN LIEU OF MASONRY ANCHORS. UNLESS OTHERWISE
SPECIFIED.

4. 1"X2" NON STRUCTURAL MEMBERS ATTACHED TO HOST
A. FOR MASONRY/CONCRETE APPLICATION USE GALVANIZED
1/4" X 2-3/4" TAPCONS OR EQUAL AT 24" O.C. AND é" FROM ENDS
B. FOR WOOD APPLICATION USE #14 X 2-3/4" WOOD SCREW AT
24" O.C. AND 6" FROM ENDS.
C. FOR ALUMINUM APPLICATION USE #10 X 1-1/2" SMS OR TEK

SDC\F;‘VEI_\{/E;\ET]2”21(“29'NCS.T/;\\IELIDES"T}F_'RR%I\GGEE%SUT AN OPEN VIEW! RENDERING IS NOT TO SCALE & IS JUST A GENERALIZED
SPACING SHALL BE REDUCED TO 18" O.C. AND 6" FROM ENDS DEPICTION OF THE TYPE OF STRUCTURE PROPOSED

RESPONSIBILITIES

1. ALL SITE WORK SHALL BE PERFORMED BY A LICENSED
CONTRACTOR IN ACCORDANCE WITH APPLICABLE BUILDING

CODES, LOCAL ORDANANCES, AND THE ENGINEER SHALL P RO POS ED MANSAR D SC R EEN EN C LOS U R E

BE NOTIFIED OF ANY DISCREPANCIES.
2. FOR FASTENERS WHICH ARE NOT VISIBLE AFTER INSTALLATION, SEE FOUNDATION DESIGN SHEET-01
THE CONTRACTOR SHALL VERIFY AND ENSURE INSTALLATION
HAS BEEN ACCOMPLISHED IN ACCORDANCE WITH
MANUFACTURERS SPECIFICATIONS AND IN ACCORDANCE WITH
THE ATTACHED DETAILS.
3. FOR "PICTURE WINDOW" MODIFICATION TO EXISTING SCREEN
ENCLOSURES, ALL OTHER "EXISTING SCREEN ENCLOSURE"
FEATURES ARE TO MEET THE TYPICAL DETAILS AS PROVIDED
IN THESE DETAILS. CONTRACTOR IS TO VERIFY & ASSURE

CONTRACTOR:
KING CONSTRUCTION
8474 BARBIE LN
N FT M, FL 33917

PROJECT ADDRESS:
SONI
18450 ROYAL HAMMOCK BLVD
NAPLES, FL 34114

EXISTING SCREEN ENCLOSURE IS STRUCTURALLY SOUND. .
4. CONTRACTOR TO PROVIDE NOA'S & INSTALL ALL MATERIALS DESIGN DATE: 09/11/2023

AS PER MANUFACTURER'S SPECIFICATIONS. REVISION 1: DATE

5. INTEGRITY OF EXISTING/ HOST STRUCTURE SHALL NOT BE REVISION2:  DATE
COMPROMISED WITH THE ATTACHMENT OF THE PROPOSED : SHEET:
STRUCTURE. DRAWN BY:  DNM-YD O 1

SCALE: NTS




= G2 /
i OUSE WALL
—
I 2><2 DJ
inl oo 2X2 DJ
@
™~
2X7SMB
?3 o a IS
O R O = §
L 1 oo | N
o & R =
~
. 2X7SMB
inlco \\\
> N
- N /
™~ o //
\\ /
L 1X2 N
- - 3| OII
11I_O|I

ALUMINUM SPECIFICATIONS z Digitall
HATCH/ SYMBOL LEGEND 1. ALUMINUM EXTRUSIONS SHALL BE 6005 T5 ALLOY UNLESS >~ o g ° N g y
OTHERWISE NOTED. =5 28586 e, :
HATCH INDICATES 2. ALL SELF MATING BEAM SECTIONS ARE TO BESTTCHED WITH | 24 8 £ S8 3 \\\\;\GF’-‘--%N%P:{( 3 signed by
#12 SCREWS 6" FROM ENDS & 24" CENTER TO CENTER. S-FO0 SBE S NCENSgG L .
o EXIST. STRUCTURE #10 SCREW 6" FROM ENDS & 12" CENTER TO CENETER. gSgecse S e Craig E
NOTE: ALL MAY NOT APPLY 3. ROOF BRACING SHALL BE A MINIMUM 2'X3"X.050". o888 70N 2T 2
: 4. THE MINIMUM NORMAL THICKNESS OF PROTECTOR PANELS §© 65308 -4 * y £ Gunderson
(KICKPLATES) SHALL BE AN INDUSTRY STANDARD OF 0.024 8SUn8L2g =R SAEOF &=
INCHES. 080T 08 2% AL oriph &s Date:
5. VINYL AND ACRYLIC PANELS SHALL BE REMOVED WHEN 2ochEn58 7S5 RS \@ N
WIND SPEEDS EXCEED 75 MPH PER FBC. ESPO5L2TL i ,{ONAL\?\\\\\ 2023.09.11
6. SCREEN MATERIAL SHALL BE 18/14 SCREEN UNLESS 28T 0D 5 I .
APPROVED BY FLORIDA ENGINEERING LLC. 0B 2Lg0y LL.)Q _
7. 1"X2" & 1"X3" NON STRUCTURAL MEMBERS MAY BE USED c2358822 15:55:28 -04'00
INTERCHANGEABLY.
8. DOOR LOCATION MAY BE DETERMINED/ RELOCATED BY
CONTRACTOR IN THE FIELD. O — ~
AN ©
- O v S
S I @) ®
™ :
» OE® e
// / / S S / PP / / / / / g eI AR >z < u
. RESIDENCE HOUSE WALL ) <509 £ <
-_— O
HOST 12" O/H STRUCT. GUTTER X2 ‘ ‘ % i % g 8
x2ps b < g >
. - Zx .Louw
,Q\Q / 2X2 DJ I 00 = RFu g oy~
e / < O_Eoclk
) / ~ =F_ 11U
/ Z%ggig
/
2X3 TYP. / 2X7SMB g = ix( o 3
1 —
1 < T O
5 |
@ @ o @ © ) S by =F O
> = = = > = 8 = = X « = @
L : 2 : : : - S Sy G sk 8
- % S A S A 2 3 S ORI &
o~ e ™~ - < o N
2X3 TYP. % LL g
\ 2X7SMB %
\\ /// ’ )
\\ // / %
e W z
\\ 7 Olﬁ o
\\ e T\ LIJ
\ X2 L 3
e \ 7" \ 7" \ 7" \ 7" \ 7" \ 7" 30" 14
868 1 868 1 868 1 86 - 868 1 868 1 868 110" a
60|_OI|

—r - \\\\\\\

4-0"MAX T o)

T >

\ . yd \ . yd m
2X10 REC. TUBE 2X10 REC. TUBE ¢
\\\\ //// \\\\ //// Z 8

" \\\\ //// " \\\\ //// 9 E

= g AN /// g AN /// Q |_ 2 I

-OI . N e . \\\ yd — O N~ =
> > < «—

— || < e & N e < D Z —

— 7/ 7/ I ﬂ-
= / = AN / < x—-o ™
~ AN / ~ \\\ s é |_ LU g 2’ |

N /// AN /// N A .. LL
AN . AN . om_ >
. 7 N 2 Z [/p]
N e N e XX Lw [%2] O -
N o IX2 TYP. S/ N 1X2 TYP. S/ N 8 < - o x n
‘ x o E [a) o LLl
30'-0" ‘ 30'-0" S O 2 zZog
2 ZRL |5 OF<
60'-0" E Yooz L D=2
P4 o]
[e] [v4
(&] o
DESIGN DATE: 09/11/2023
THE ENGINEERING ON THESE PLANS IS SITE REVISION 1: DATE
SPECIFIC FOR (1) STRUCTURE ONLY AT THE REVISION2:  DATE SHEET:
PROVIDED ADDRESS(ES). DRAWN BY:  DNM-YD 02
SCALE: NTS




1"x2" FASTEN TO COL. (INTERNAL)

w/(2) #10x1-1/2" SMS, FASTEN TO
EAVE RAILS ABOVE w/#10 1-1/2" SMS

24" O.C. AND 6" WITHIN COL. _—
a a ©
TABLE "D" . BEAM PER PLAN
R (SLOPED OR FLAT)
BEAM QTY/ SIZE EACH SIDE
2x3 (4)/ #12 %
2x 4 (5)/ #12 BEAM PER PLAN
NOTCHED TO RECEIVE

2x5 (8)/ #12 COLUMN WITHIN
2

x6 (6)/ #12 SMS, (EACH SIDE)
2x7 (7)/ #12 QTY/ SIZE PER TABLE "D"
2x8 (8)/ #14 \

NOTCH PROFILE MAY VARY
2x9 (9)/ #14 TO PERMIT CORRECT # SMS
2x10 (9)/ #14

COLUMN PER PLAN

MAINTAIN MIN, OF 5/8" SEPERATION
FROM EDGE OF BEAM SMS O.C.

DETAIL E - UPRIGHT TO BEAM
CONNECTION SCALE: NTS

(2) #10x3" SMS INTO SCREW
BOSSES FOR EDGE MEMBER \
|

EDGE MEMBER
OR PURLIN

(2) #10x2"

INTO BEAM ™|
BEAM ——

INSTALL BRACE

TO CORNER\

PURLIN

DETAIL "D" - ROOF BRACING CONNECTION

BRACE

\ EDGE MEMBER

OR PURLIN

0.0625" 6063-T6 FLAT PLATE
w/(8) #10x.75" SMS, MIN. .5"
EDGE DISTANCE, PLATE MAY BE
FASTENED INTERNALLY TO BRACE

SCALE: NTS

ALUMINUM MEMBERS DIMENSIONS

HOLLOW SECTIONS
2x2:2"x2"x0.050"
2x3:2"x3"x0.050"
2x4:2"x4"x0.050"
2x5:2"x5"x0.050"

OPEN BACK SECTIONS
1x2:1"x2"x0.044"
1x3:1"x3"x0.045"

SNAP SECTIONS

2x 2 SNAP: 2" x 2" x 0.045"
2x 3 SNAP: 2" x 3" x 0.050"
2 x4 SNAP: 2" x 4" x 0.045"

SELF MATING (SMB)

2 x 4 SMB: 2" x 4" x 0.046" x 0.100"
2% 5 SMB: 2" x 5" x 0.050" x 0.116"
2% 6 SMB: 2" x 6" x 0.050" x 0.120"
2x 7 SMB: 2" x 7" x 0.055" x 0.120"

2 x 8 SMB: 2" x 8" x 0.072" x 0.224"
2% 9 SMB: 2" x 9" x 0.072" x 0.224"

2 x 9(H) SMB: 2" x 9" x 0.082" x 0.306"
2x 10 SMB: 2" x 10" x 0.092" x 0.374"

ALL MAY NOT APPLY
DETAIL A

\\\\\\IIHI////////

N, © GUNDg/////,

w
STATE OF
[

i
&

/1,
N

N .
i

This item has been electronically
signed and sealed by Craig E
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on any
electronic copies.

Digitally signed
by Craig E
Gunderson
Date:
2023.09.11
15:55:32 -04'00'

MINIMUM NUMBER OF TAPCONS INTO CONCRETE &
#12 X 3/4" S.M.S. INTO UPRIGHT / EACH SIDE OF BEAM
THROUGH SECONDARY 2" X 2" X 0.125" ANGLES
(SEE BELOW)

2X4 S.M.B. (0) 3/8'X 2-1/4"S.S. TAPCON & (0) # 12 X 3/4" S.M.S.
2X5S.M.B. (0) 3/8'X 2-1/4"S.S. TAPCON & (0) # 12 X 3/4" S.M.S.
2X6 S.M.B. (1) 3/8'X 2-1/4"S.S. TAPCON & (4) # 12 X 3/4" S.M.S.
2X7 S.M.B. (1) 3/8'X 2-1/4"S.S. TAPCON & (4) # 12 X 3/4"S.M.S.
2X8 S.M.B. (2) 3/8'X 2-1/4"S.S. TAPCON & (5) # 12 X 3/4"S.M.S.

2X9 S.M.B. (2) 3/8"X 2-1/4"S.S. TAPCON & (6) # 12 X 3/4" S.M.
2X10 S.M.B. (2) 3/8'X 2-1/4'S.S. TAPCON & (7) # 12 X 3/4" S.M.S.

SELF-MATING OR
SNAP SECTION TYP.

—

1/8'x2'x2'x ANGLE

5032 H-32 ANGLE
(2) - #12 SMS INTO COLUMN
3/8" MASONRY ANCHOR EACH S
ANGLE - EACH SIDE COL. o oo
O )
/

1"x2" O.B. BASE PLATE-TYP.

i 2" REVEAL TYP.

v

1-1/4" MIN. CONC.
ANCHOR EMBEDMENT
@ 1'x2" O.B. LOCATION TYP.

v

a4 e [ N N N
2-1/4" MIN. CONC. A .
ANCHOR EMBEDMENT | , . it
@ SECONDARY ANGLE ct e e -

[N

> : 2" MIN. INCREASE DISTANCE
= WHEN GREATER THAN 2x4
UPRIGHT IS USED

NOTE

WHERE PAVERS ARE PRESENT USE 3/8" LDT
(RED HEAD MFG. OR EQUIV.) MASONRY
ANCHORS TO PENETRATE UNDERLYING
CONCRETE FOOTING 2-1/4" (MIN.)

(2) - #12 SMS PRIMARY ANGLE

3/8" MASONRY ANCHOR
AT EACH ANGLE v SEE SECONDARY ANGLE SCHEDULE
FOR QUANTITY BEYOND
3/8" TAPCON XL (RED HEAD MFG. OR EQUAL)
(2) @ 1x2 BASE
e o (2) @ SLAB (BEYOND)

a
PN .

3000 PSI CONC.
SLAB/ FTG.
6x6-10x10 WWM
OR FIBERMESH

SIDE VIEW

L - \1"x2” BASE PLATE ANCHORED
TO CONC w/ 1/4" MASONRY
ANCHOR 6" MAX EACH SIDE
s OF POST AND 24" O.C. MAX

4 Ba S

9
4
a a
<

4
S

<
. IS
[N
< s B v B
4
[ Prs v s

3000 PSI CONC.
SLAB/ FTG.
6x6-10x10 WWM
OR FIBERMESH

DETAIL "B" - 2"'x4" OR LARGER SELF MATING
UPRIGHT TO DECK DETAILS SCALE: NTS

1
f

FRONT VIEW

1-1/4" CONC. EMBEDMENT TYP.

FASTEN TOP OF HEADER TO INTERSECTING
2'x2" MEMBER w/(2) #10 SMS w/1"
PENETRATION INTO SCREW BOSS OF

2'x2" MEMBER - TYP. BOTH SIDES

2'x2" DOOR JAMB \

FASTEN HEADER w/(2) #10x3“/

INTO SCREW BOSS OF HEADER

ALTERNATE HEADER CONNECTION
WHEN Z-BAR IS USED - FASTEN
Z-BAR TO COL/HEADER AT EACH
CORNER AND 18" O/C

ALTERNATE BASE PLATE CONNECTION
ATTACH 2'%2" TO BASE PLATE
(INTERNAL) w/(2) #10x2" SMS

ATTACH BASE PLATE TO 2'x2"
w/(2) #10x3" SMS INTO SCREW
BOSS OF BASE PLATE

ALUMINUM INTERNAL OR EXTERNAL
RECEIVING CHANNEL w/(4) #10x.75"
INTO GIRT OR PURLIN & (2) #14x.75"
INTO BEAM OR UPRIGHT 0.062 ANGLE
CLIPS MAYBE USED

| e |

(4) #10x1-1/2" SMS INTO
SCREW BOSSES

FLORIDA ENGINEERING LLC
4161 TAMIAMI TRAIL, UNIT 101

z

: L

SELF MATING, OR HOLLOW

I = |

UPRIGHT, BEAM-SNAP, /

PURLIN
y MEMBER

N
PROJECT NO. 2324998

CA CERT. #30782

PORT CHARLOTTE, FLORIDA 33952
(941) 391-5980
FLEng.com
Orders@FLENng.com

N
N\

NS

1/4" TAPCON (RED HEAD MFG. OR EQUAL) WITHIN 6" OF
COLUMN 1-1/4" PENETRATION INTO UNDERLYING FOOTING

DETAIL "F" - DOOR JAMB & HEADER
CONNECTION

SCALE: NTS

DETAIL"C" - GIRT OR PURLIN TO BEAM
OR POST DETAIL SCALE: NTS
)]
>
2'%2'x.063" - DIM. TO MATCH PURLIN m
SIZE RECEIVING CHANNEL v
(2) #12 SMS INTERNAL TO EAVE RAIL o
(3) #12 EACH SIDE INTO PURLIN = 3
5 .
=t o | T P\)RUN/Y/' O_ ~ <§( =
sy © o) Z — T <
EAVE RAIL - SEE PLAN/ E ° x—-x ™
EXTRUSION Eim’ w3 Z(' |
/ o .. T
1x2 OPEN BACK / >0 @ >
EXTRUSION /UPRIGHT o 2(: L ] 8 s
g - o
(2) #10x2" SMS THRU 1x2|NTO/ / 5 Om= 8 —o L_I'J
EAVE RAIL EACH SIDE OF COLUMN E O< < Zopa
2 ZRL |5 OF<
P o
o) x
s} a
DESIGN DATE: 09/11/2023
DETAIL "G" - SLOPED PURLIN REVISION 1: DATE
CONNECTION  SCALE: NTS REVISION 2:  DATE SHEET-
DRAWN BY:  DNM-YD

SCALE:

w03




GIRT FASTENED INTERNALLY AT EACH END
w/ #10x1.5" EACH SCREW GROOVE. FASTEN
TO BEAM w/ 2'x2"'x1/8" ANGLE (2) #12 SMS
INTO BEAM & (2) #10x1.5 THRU ANGLE INTO
GUTTER WHERE NO GIRT IS PRESENT, ATTACH
ANGLE DIRECTLY TO GUTTER

2'x2'x1/8" ANGLE —

1"x5"x2" WIDTH EXTRUDED GUTTER BRACKET
(THICKNESS OF LEG @ WOOD SCREW SHALL BE
0.125" MIN., LONG LEG SHALL BE 0.072" MIN.)

@ EACH BEAM w/(2) #12x3/4" SMS @ 1" SPACING
INTO GUTTER LIP. FOR BEAMS ABOVE 2x8 INSTALL
GUTTER BRACE AT MIDPOINT BETWEEN BEAMS &
INCLUDE 2" GUTTER BRACE AT EACH BEAM
LOCATION.

w/(2) #12 SMS
EACH LEG
i EXISTING HOST STRUCTURE
(DESIGNED BY OTHERS)
o =
BEAM o 7
2) #12 SMS (2) #14 WOOD SCREWS @ 1"
[ & SPACING @ EACH GUTTER BRACKET
o & (1) @ 18" O.C. MAX.
o o MIN. EMBEDMENT SHALL BE 2'
CLOSE BOTTOM OF/
BEAM WHEN TRIMMED
FOR BEAM OVER 2¢5
044 RECEIVING CHANNEL, 044 RECEIVING CHANNEL FASTEN TO STRUCTURAL GUTTER
FASTEN w/(2) #12 SMS INTERNALLY w/(2) #12 SMS
EACH SIDE OF BEAM ALTERNATELY 2x2x1/8" ANGLE BELOW GIRT, (2) #14 SMS INTO
BEAM & (2) #12 SMS INTO STRUCTURAL GUTTER
SIDE VIEW
OPTIONAL GIRT
#10 SMS WITHIN 6" X

& @24"0O.C. MAX.\

FASTEN GUTTER TO
FASCIA w/ #14x2"
WOOD SCREW 18" O.C.

050" GUTTER STIFFNER
FASTEN TO FASCIA w(2)
#12x2" WOOD SCREW
FASTEN TO GUTTER w(2)
#12 SMS

GUTTER o
BRACE o
WHEN BEAM & PURLIN

N HIT ON CORNER -
FASTEN OUTSIDE OF
BEAM & PURLIN

w/ 1/8'x2'x2" ANGLE

& (4) #12 SMS EACH LEG

\ FASTEN INSIDE CORNER

(BEAM TO PURLIN)
w/ 1/8'x2'x2" ANGLE
w/(2) #12 SMS

INTO EA. MEMBER
(BEAM & PURLIN)

DETAIL "M" BEAM & PURLIN TO GUTTER
CONNECTION SCALE: NTS

/(2) #12 SMS
=g -
O/ﬁufg? -
/ \(2) #14x2"
WOOD SCREW
2x2x1/8" ANGLE - @ 1"SPACING
EA. SIDE OF BEAM
w/(2) #12 SMS </
FACHLEG EACH SIDE ~| T Fascia (2'x6" MIN. EXISTING)
| STRUCTURAL
GUTTER
TOP VIEW
DETAIL "H" BEAM TO GUTTER
CONNECTION  SCALE: NTS
I

NOTE F

INSTALL FASTENERS ALONG PERIMETER OF GUSSET
-BEAM JOINT 3/8" MIN, FROM EDGE. FASTENERS
MAY BE STAGGERED TO INSURE PROPER
QUANTITY PER TABLE B-1

FASTENER PATTERN MAY APPEAR DIFFERENT
FROM ILLUSTRATION.

MAINTAIN 1/2" SEPARATION BETWEEN FASTENERS.
MAINTAIN 3/8" MIN, FASTENER SEPARATION FROM
BEAM JOINT OR EDGE OF BEAM LAP

FASTENERS MAY BE EVENLY SPACED AROUND
EDGE OF GUSSET WITHIN 3/8" OF BEAM JOINT.
FASTENERS MAY BE STAGGERED TO INSURE
PROPER QUANTITY PER TABLE B-1

o o o j*O \
PRl
3/16"-5052-H32 GUSSET
INTERNAL OR EXTERNAL
2 x 10 SMB ILLUSTRATED
TABLE B-1
BEAM COL.TOBEAM | BEAM TO BEAM
SIE QTY SMs/ QTY SMS/
SIDE OF COL. EA. FACE/SIDE
2x 4 (5) #12 (9) #12
2x5 (5) #12 (9) #12
2x6 (7) #12 (9) #12
2x7 (10) #12 (10) #12
2x8 (12) #12 (14) #12
2x9 (14) #14 (14) #14
2x10 (16) #14 (15) #14

DETAIL "K" GUSSET CONNECTION

SCALE: NTS

2'x2"'x1/8" ANGLE w/(2)
#12 SMS EA. LEG

(2) #14 WOOD SCREWS
(2] #12.5MS INTO FASCIA
GIRT \
=T o]

o I %
SMB ° = N
° ° GIRT
/ o o AN \\

1/8"x2"'x4" STRAP

(2) #12 SMS INTO BEAM STRUCTURAL GUTTER

(2) #12 SMS INTO GUTTER SIDE VIEW
-~ GIRT (2) GUTTER BRACES
] 7 EACH w/(2) #12 SMS
FASCIA INTO GUTTER & (2) #14
WOOD SCREWS INTO FASCIA
o| GUTTER
2'%2'x1/8" ANGLE w/(2) o| BRACE fummmm

#12 SMS EA. LEG

L (2) #12 SMS E W

| =

0%

SMB X
| ] | o o

1/8"x2"'x4" STRAP

(2) #12 SMS INTO BEAM GIRT STRUCTURAL GUTTER
(2) #12 SMS INTO GUTTER
TOP VIEW
DETAIL "L" CORNER CONNECTION

SCALE: NTS

This item has been electronically
signed and sealed by Craig E
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not

>
c
T © o .
S5 i, Digitally signed
B3 No €. SN0g 7, .
%% \\\s&xsf?.-g\cewégfg’% by Craig E
7] SO “ZZ
Do SF/ Nesvioz GEE Gunderson
© = =
Eg g :://% STATE OF (gf\g: Date:
208 R LloroNs
% %’ § ///f/(/:/S:S/OA\_ €$\\c\3\\\\ 2023.09.1 1
855 K 4 15:55:36 -04'00'
wn +2
528

(9) #14x3/4" SMS

1/8" PLATE ON 45° ANGLE
OR 1/8'x2'x2" ANGLE w/(4)
#12 SMS INTO EACH N\
INTERSECTING MEMBER o o/ /o o o

PERIMETER
FRAMING\

DETAIL "-2" CABLE CONNECTION
AT CORNER SCALE: NTS

1/8" STAINLESS STEEL
BRAIDED CABLE

o /

1/8" STAINLESS STEEL
/BRAIDED CABLE

EYEBOLT FOR
CABLE TENSION

40° MIN.
60° MAX.
s a B

< 4 IS L . R

a4 < 5 v & IS

. a IS N N v
N RS B . > .

/ S

3000 PSI CONC.
6x6-10x10
WWM OR FIBERMESH

40° MIN.
60° MAX.

1/8" STAINLESS STEEL
/BRAIDED CABLE

3" AS.T.M. A-36 STEEL CLIP

WITH (2) 3/8'x3" SLEEVE ANCHORS
FOR PAVERS (2) 1/4'x6" TAPCONS
THRU PAVERS INTO FOOTING

3000 PSI CONC.
6x6-10x10
WWM OR FIBERMESH

1/8" STAINLESS STEEL
BRAIDED CABLE

3/8" DIA x 3" EMBED
CONC. SCREW ANCHOR
(TAPCON OR EQUAL)

40° MIN.
60° MAX.
« 4 N
PR et
4. RN
4 N N I S N
PREN v A
v

3000 PSI CONC.
6x6-10x10
WWM OR FIBERMESH

1.5"5.5" ALUM. STRAP
w/(2) 3/8" DIA. x 3"
MASONRY ANCHOR
(TAPCON OR EQUAL)

DETAIL "I-1" CABLE CONNECTION
AT FOUNDATION SCALE: NTS

O~ o
o9 2
O+ 9 3
OE® e
ZZ 3 5
= € 5
¥ .o 9
5)
— Jo EO
W<Iwsc
Zx -t ‘-’.'-_'IJ
—|—|-||_Jov o
O_ESs
TG
W 23" o
<=< =
< T O
E — e}
<
Qok 3
058 3
)
LL V <
% o
W2 =
3
\ § I
K\\\. g
Y
\\ o
a)
>
-
o
S
P O
s =
O ~
S5z¢ <3
x—-o ™
EEQ Z:'_l
z87 4 z-
oY% # 8
¥ Om= a c>LIJ
e Ox 2R Zog
2 Z5L 5 O <
z o
o X
o o
DESIGN DATE: 09/11/2023
REVISION 1: DATE
REVISION 2: DATE SHEET:
DRAWN BY: DNM-YD
SCALE: NTS 04




(3) 1/4" DIA. MACHINE BOLTS
w/ 3/4" DIA. WASHERS THRU
CARRIER BEAM & POST

/
O
(@) CARRIER BEAM
©
\1”@‘ MEMBER
FOR SCREENING
VARIES
v HORIZONTAL BEAM
ON ITS SIDE
POST (IF REQUIRED)
o
i
\ \ 2'x2"%0.125" 2" FOR SINGLE
RECEIVING CHANNEL HORIZONTAL BEAM
OR ANGLE EACH SIDE 4" FOR DOUBLE
HORIZONTAL
(6) #10x0.75" SMS BEAM OR 4'x4
EACH SIDE 6" FOR TRIPLE
HORIZONTAL
BEAM OR 6X6

(12) #10x0.75" SMS

2 ROWS OF (6) FOR
RECEIVING CHANNEL
OR () EACH ANGLE

OPTIONAL 2"x2" FASTENED TO CARRIER

CARRIER BEAM TO POST DETAIL

SCALE: NTS

(4) 3/8" DIA. LDT'S

2-1/4" MIN. EMBEDMENT
THRU BOTTOM LEG OF
ANGLE INTO CONC.

MAY USE (4) #14x1" TEK
IN LIEU OF THRUBOLTS

(3) 1/4" DIA. MACHINE

3-3/4" FROM EDGE—|
OF SLAB/ FTG.

(3) 1/4" DIA. MACHINE

TOP VIEW

4'x4" POST
(SEE PAGE-2
FOR SIZE)

BOLTS w/ WASHERS
(4) 3/8" DIA. LDT'S
2-1/4" MIN. EMBEDMENT
THRU BOTTOM LEG OF
ANGLE INTO CONC.

ZR
a [S

a < b v o
a IS &
aoopsicone. |70 e e T ’
SLAB/ F1G. —
6x6-10x10 WWM
OR FIBERMESH FRONT VIEW

4"x4" POST CONNECTION DETAIL

SCALE: NTS

NOTES:

BOLTS w/ WASHERS

/ 2'x4"x0.125 ANGLE

BEAM w/(2) #10x1-1/2" SMS INTO

SCREW BOSSES EACH END

2%2°X0.125" ANGLE
" EACH SIDE TYP.

CARRIER BEAM \
o

OPTIONAL o)

1"x2" MEMBER
FOR SCREENING o
#10x1-1/2" SMS @ 18" -
0.C. MAX CONNECT\NG/ °

TO 1'x2" CARRIER BEAM 7
#10x1-1/2" SMS @ 18“/
0.C. MAX CONNECTING ﬂ/

0 1"x2" POST o

i
0o oo o0 o

TO CARRIER BEAM

3/4" SMS SEE TABLE FOR
QUANTITY (TYP. EACH SIDE)

3/4" SMS SEE TABLE FOR
QUANTITY (TYP. EACH SIDE)

NOTE: FOR DOUBLE OR TRIBLE CARRIER
BEAM, OUTSIDE WEBS SHALL OVERLAP
4x4 POST OR NOTCH POST AS ABOVE
FOR éx6 POST. ALL CASES, CONNECT

USING MACHINE BOLTS DECRIBED ABOVE.

ROOF BEAM TO CARRIER BEAM
CONNECTION DETAIL SCALE: NTS

MAY USE (4) #14x1" TEK

(4) 3/8" DIA. LDT'S

2-1/4" MIN. EMBEDMENT
THRU BOTTOM LEG OF
ANGLE INTO CONC.

BOLTS w/ WASHERS

(3) 1/4" DIA. MACHINE\E — S

IN LIEU OF THRUBOLTS

3-3/4" FROM EDGE—
OF SLAB/ FTG.

(3) 1/4" DIA. MACHINE
BOLTS w/ WASHERS

(4) 3/8" DIA. LDTS

2-1/4" MIN. EMBEDMENT
THRU BOTTOM LEG OF
ANGLE INTO CONC.

"
N
5}
v 2"
i i
1,
TOP VIEW

/ COLUMN PER PLAN

1/8'%2'x2"x3-3/4"
(LENGTH) ANGLE

/7 (INTERNAL)

7

a

a

/

3000 PSI CONC.
SLAB/ FIG. —

Jams e
o] ETE S S
S
>
IS B S L
PRGN > . -
v v &
of S
IS 3
PR s voa, B >

7
<
a
<
a

6x6-10x10 WWM
OR FIBERMESH

FRONT VIEW

4X4 COLUMN ALT. BASE ATTACHMENT

DETAIL

SCALE: NTS

1. 3x3 POST TO HAVE 3/8" RED HEAD - TRUBOLT WEDGE ANCHORS (STAINLESS STEEL, PROVIDE MINIMUM 2" FROM EDGE OF SLAB AND PROVIDE MINIMUM
2" SPACING TO ANY OTHER CONNECTOR. SEE MFG. NOTES FOR INSTALLATION REQUIREMENTS. THREADED ROD REQUIRES 3" MINIMUM EDGE DISTANCE.

2. WHERE 4x4 POST HAVE 1/2" RED HEAD - TRUBOLT WEDGE ANCHORS (STAINLESS STEEL), PROVIDE MINIMUM 3-3/4" FROM EDGE OF SLAB AND PROVIDE MINIMUM
3-3/4" SPACING TO ANY OTHER CONNECTOR. SEE MFG. NOTES FOR INSTALLATION REQUIREMENTS.

3. WHERE PAVERS ARE PRESENT ANCHOR LENGTH SHALL BE INCREASED BY THICKNESS OF PAVER NOT TO EXCEED 2-1/2" FOR PAVER THICKNESS MORE THAN
2-1/2" SPECIFICATIONS SHALL BE REQUIRED. PAVERS SHALL BE BONDED TO UNDERLYING CONCRETE FOUNDATION.

ROOF BEAM (SLOPED OR FLAT)
(NOTE USE SIMILAR DETAIL FOR
NOTCHED UPRIGHT CONNECTION

ROOF BEAM TO C.B. W/
1/8" ANGLE TABLE
BEAM QUANTITY/ SIZE EA.

SIZE LEG TO BEAM
2x4 |(4) #120R (2) # 16
2x5 |(5)#120R (3) # 16
2x6 |(5) #120R (3) # 16
2x7 |(6) #14 OR (4) # 16
2x8 |(7) #14 OR (4) # 16
2x9 |(8) #14 OR (5) # 16
2x10 |(9) #14 OR (6) # 16

1/8"x2"'x2" x LENGTH CUT TO FIT ANGLE

EACH SIDE OF BEAM FASTENED

W/ (4) #12x5/8" SMS TO BEAM

(4) #12x5/8" SMS @ 3/4" SPACING TO GUTIER.
WHERE GIRT PRESENT USE 1/8'x2'x2" ANGLE
OVER GIRT AND CUT TO FIT BEOW GIRT.
FASTEN EACH LEG W/ (2) #12x5/8" SMS

2'x2" PERIMETER

(3) 1/4" DIA. MACHINE BOLTS
w/ 3/4" DIA. WASHERS THRU
CARRIER BEAM & POST

POST \

This item has been electronically
signed and sealed by Craig E.
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on any
electronic copies.

gy,

Digitally signed

\\\\\\\ E-._G.L_J_Nog////x/,/ .
\\\\s&v_}f’ \-oENgé.ff% by Craig E
=77 w2 5% Gunderson
j:::% STATE OF Qté,tg: Date:

TR NN
7, Qe b ORI NS
A SSoa, B 2023.09.11

15:55:42 -04'00'

TOP VIEW

'~

CARRIER BEAM o]

n

/

(3) 1/4" DIA. MACHINE BOLTS
w/ 3/4" DIA. WASHERS THRU
CARRIER BEAM & POST

POST

FRONT VIEW

SCALE: NTS

1/8"x2"'x2" x LENGTH CUT TO FIT ANGLE
EACH SIDE OF BEAM FASTENED

W/ (4) #12x5/8" SMS TO BEAM

(2) 1/4" TAPCON INTO HOUSE WALL
2-1/4" EMBEDMENT MIN. ALTERNATELY
RECEIVER CHANNEL MAY BE USED IN
LIEU OF 1/8" ANGLE EA. SIDE

SEE DETAIL "H"
FOR GUTTER
STIFFNER SPECS.

(3) 1/4" DIA. MACHINE BOLTS
w/ 3/4" DIA. WASHERS THRU
CARRIER BEAM & POST

/CARRER BEAM

(3) 1/4" DIA. MACHINE BOLTS
w/ 3/4" DIA. WASHERS THRU
CARRIER BEAM & POST

CORNER CARRIER BEAM CONNECTION DETAIL

[ EXISTING HOST STRUCTURE
(DESIGNED BY OTHERS)

BEAM PER PLAN ° o o

;

CLOSE TOP OF
BEAM WHEN TRIMMED

SIDE VIEW ' 44 RECEIVING CHANNEL,
FASTEN w/#12 SMS

EACH SIDE OF BEAM

BEAM TO GUTTER/HOST CONNECTION

DETAIL

SCALE: NTS

E
=t 2" (MINL)

O~ o
o9 2
O+ 9 3
OE® E’
ZZ 3 5
= € 5
¥ .o 9
5)
— Jo EO
W<Iwsc
Zo 28U
—|—|-||_Jov o
O_ESs
TG
W 23" o
<=< =
< T O
E — e}
<
Qok 3
058 3
)
LL V <
% o
W2 =
3
\ § I
\\\\ g
Y
\\ o
a)
>
-
o
S
P O
s =
O ~
S5z¢ <3
x—-o ™
EEQ Z:'_l
z87 4 z-
oY% # 8
¥ Om= a c>LIJ
e Ox 2R Zog
2 Z5L 5 O <
z o
o X
o o
DESIGN DATE: 09/11/2023
REVISION 1: DATE
REVISION 2: DATE SHEET:
DRAWN BY: DNM-YD
SCALE: NTS 05




		2023-09-11T15:55:24-0400
	Craig E Gunderson


		2023-09-11T15:55:28-0400
	Craig E Gunderson


		2023-09-11T15:55:32-0400
	Craig E Gunderson


		2023-09-11T15:55:36-0400
	Craig E Gunderson


		2023-09-11T15:55:42-0400
	Craig E Gunderson




